1450 [mnpm ]

1440 143.8

143,0

142,0

141,0

140,0

Pd

- szg IIb XA, 4

138,0 \

137,0

A AN Fiii i Ib b 2 gﬁ

Ps+z+

e z 1 Gpim — plimpt
136,0 === g bt ) p

=—— b

1350

134,0

1330

1320

131,0

1300
38,8 m 546m 50,7m 494m

40m 40m 40m 40m 4,0m




141,9
Pd szg
Sty o
Pd szg
R b
E
Pr szg
ha
E 1.5
S e piftpl - s n s
= 4‘30"5—F i o pe sz~ 2,
Pstz+tk S8 Pd+Ps szg
——— 0
—_—
o S R Ps+z+k szg
SN
\ LE
~ Ps/iGp %8
~
= 1.8
=2 LY
~
-
l_[b = ~
-~
o
N Ps//Pd szg
5
~
-~
\ B
Pd szg
\L‘g
487 m 50,8 m 50,2 m 50,1 m
40m 40m 40m 40m 40m

Tresé:
Przekroj geotechniczny I-1
Skala: Sporzadzit: Data:
pozioma: 1: 500 .
pionowa: 1: 100 mgr inz. P. 10.2020
Szymanski




